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BNGELISH VERSTOR

A company has investwent onportumity costing Hs. 80,000 20

with the following expected net cash flow.

Yeur | Net Cash Flow
| a0
2 14,000
3 14,000
4 14,000
2 14,000
6 16,000
7 20,000
8 30,000
9 20,000
10 8,000

Using 16% as the cost of capital. Determine the folowing
(1}  Paw back period
(Z)  Net present value at 10% discounting factor
(3) Profit index at 10% discounting factor
(4) Internal rate of veturn with the help of 10% and 15%
discounting factor.
OR
1 A company is considering investing in a capital project 20
which will cost Rs. 1,00,000. Project will require an increase
in the investories and receivable of Rs. 50,000. The project
will generate additional sales of Rs. 1,00,000 per annum. And
the require cash expenses of Rs. 30,000 in each year of its
5 vear life. It will be depreciated on straight line bases. Tax

rate is 50%, cost of capital is 10% . What is the net present
value and internal rate of veturn of such project ?
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A The HNOI of a2 company is Bs. 4,00,000. s capital sivuctuze 20
includes 8% debenture of Ks. 16,00,0600, overall cost of capital
10%. Compute the cost of equity capital
What conld be the change in the vate of cost of equity capital.
if the debts in the capital structure of the fivm are increase
to 16.00,000.

OR

2 There ave two {irms A and B in the samme nsk class. The 20

frm A has debenture in the capital structure W?ﬂﬂ@ B s
unlevered. The NOT is 7.40,000. For both the firms and firm
A has '=s:<31;1er1 10% debenture of Bs. 1?,0@ 300. Fkn rate of Ke
in 15% for firm A and 12.5% for firm 8. Caloulate mavket
vatne of ﬂ'}“i‘i’
Now, suppose if an investor holds 10% of equity shave of the
firme A and desired to make investment in frm B by
horrowing the personal loan. Calculate the etfect of arbitrage
DYOLess.

% The following is the profit and loss account of Gujarat %)
Ltd. for the year ending 31%% December 2615, You are
required to compite the net profit for the purpose of calculating
return on capital employed.

Profit and Loss Accoumnt
e, Cor.
Particular Rs. | Partienlar Re.
To Salaries 24,066,000 | By Gross Profit : ﬂ@ 000
To Goodwiil By Income from
wyitten off 31,200 non-trading
To Legal Expenses 3,536,000 mvestment 72,000
To Advertisement 120,006 | By Surplus from
To Rent 3,64,000 Foreign exchange 60,060
To Loss on sale By Profit on sale of
of machine 9,600 previous vear 1,20,0060
To Printing and
Stationary 48,000
To Depreciation
Plant 9,84,000
Furniture 36,000
Building  2,76,000} 12,96.000
To Interest
on Bank Loan 9,600
To Net Profit 40,17,600
£86,52,000 36,52,000
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(1) Tegal expenses includs |
exceptional nature.

(Z}  Profit of Hs. 1,68,000 on completed conivacts hag noh
beenr included in the above profic.

(3) The capital employed is to be computed on the basis of
replacement cost of assets and the additional depreciation
of Bs. 456,000 15 to he provided.

O

L

Give meaning of capital emploved. And explain significance
and use of return on capital employved techniques.

Define cash b'ilde;et.. Hxplain methods of cash budgets in
detail. Aund explain its importance.

OR

Prepave a cash budget for the three months ended 30th
September, 2002 based on following :

being ezpenses of

Cash at bank on 18 July 2002 ... 25,000
- Salaries and wages estimated monthly ... 10,000
- Interest payable August 2002 ... ... 5,000
Estimated Jone (Rs) | July Bs) | Aug (Rs) | Sent. (Ra)
Cash Sales Actazl | LA4G,000 | 152,000 { 1,21,000
Credit Sales 1,060,000 30,600 | 140,000 | 1,20.000
Purchases 1,640,000 170,000 | 240,006 1,806,000
Other Hxp. — 20,000 22,000 21,0600

Credit sales are collected 50% in the month in which sales
are made and 50% in the month following. Collections from
credit sales are subject to 5% discount. If payment is received

during the month of purchase and 2 % if payment is

received in the month following.
Creditors are paid either an a prompt or 30 days basis. It
1s estimated that 10% of creditors are in the prompt category.
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5 Define umiforsn cosiing., Fxplain componeni for
standardization of uniform costing.
OR

ratios by inger-fizm comparisons.

RL-8506 | g

§  Define Inter-fivm comparisons. Explain signiticance of
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